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—. EER(187):
1. 5 R A#E S5 FE Cauchy in) @ i 244 B hn JiH 2 .
{ Uy = a*Ugy + f(2,t), —00 <z < +00, t >0,

u(z,0) = ¢(x), —o00 <z < +o0.

2. % Cauchy [r] @

Upg + 2Upy — 3Uyy =0, —00 < x < +00, y >0,
{ u(z,0) =sinz, u(zr,0) =0, —0o <z < +00
KT witiTFourier 8, 5 H 45 I K H 7 J7 FE A B [ R
3. Busd sz IR B 7 PRI 1]
U = Uge, 0 < x<1,t>0,
u(0,t) =u(l,t) =0, t>0,
uw(x,0) = 0,u(z,0) =2*(1—2), 0<x<1

/0 (uf (2, t) + ul(x, 1)) dz.



=. '\L‘|'§EE(54§3\):
1. R —Br £ w7 75 #2 Cauchy A 8
TUy — YUy = U,

u(s,3s) =1+ s% s> 0.
2. Pt R et itk o) Jr i
Uy — 2810 U, — cO8” TUyy + Uy + (1 — sina — cos x)u, = 0,
FER B R IR
3. Kf#Laplace /7 #£Dirichlet ] &
Upe +Uyy =0, 0<2<1,0<y <1,

u(z,0) = p(x), u(z,1) =0, 0<x <1,
w©0,y) = u(l,y) =0, 0<y<1,

Hrp(x) & D FR 2L
P, SERREE(124)):
1. Wuses5ZRsh 77 FE Cauchy 7] @
Uy = AP Uyy, —00 < T < 400, > 0,
u(z,0) = p(), uy(z,0) = b(x), —00 <o < +00

PIfEE, Hak— N IEFE L, o)y (z) 26 KA, H 24|z > MEF, o(x) = (x) = 0.
WER: Hlx] > M + atht, u(z,t) = 0.

2. B Q C R A AKX, ue C?Q) N COQ)iF &£ Possion J5 F£Dirichlet 7] &

Au=—1, x €,
u=0, z€odf.

L in o — wol? < uleo) < o max |z — 2o
3y, 1uin o — ol < u(wo) < 5o max|w — o
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